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[k.M&n (Group- D)

fdUgha N% iz'uksa dk mÙkj nsa% (Answer any six questions)

25- ,d O;olk; esa dk;Z'khy iwath dh eq[; vko';drk,a dkSu&dkSu lh gSa \
(What are the major requirements of working capital of business ?)

26- ,d lkglh ds fy, ifj;kstuk izfrosnu cukus esa fdu fcanqvksa dks /;ku
esa j[kuk pkfg, \
(What main points should be taken care of while formulation of project
report by an entrepreneur)

27- fu;kstu D;k gS \ m|eh ds fy, fu;kstu D;ksa egRoiw.kZ gS \
(What is planning ? Why planning is important for an entrepreneur ?)

28- foi.ku okrkoj.k dks izHkkfor djusokys ?kVdksa dks crkb, \
(Explain the factor affecting marketing environment ?)

29- m|eh dks foUrh; lk/kuksa dks ,df=r djus ds fy, D;k djuk pkfg, \
le>kkb,A
(What should the entrepreneur do to mobilise the resources ? Explain.

30- czk.M uke dk p;u djrs le; /;ku nsus ;ksX; ckrsa dkSu lh gS \ fy[ksaA
(What are the point to be kept in mind while selecting brand name
continued ? Explain.)

31- foØe lo)Zu D;k gS \ bldh fo'ks"krkvksa dks fy[kasA2
(What is sales promotion and write characteristics of sales promotion ?)

32- fdlh O;olkf;d miØe ds foLrkj esa fdu leL;kvksa ij /;ku nsuk
vko';d gksrk gS \ crkb,A
(What problems should be properly considered in the expansion of a
business enterprise ? Explain.)

22- izcU/k dks foKku D;ksa ekuk tkrk gS \ (Why is management regarded
as a science ?)

23- le&foPNsn fo'ys"k.k D;k gS \ fdUgha ik¡p ekU;rkvksa dks fy[ksaA
(What is break-even analysis ? Write any five assumptions of break
even analysis ?)

24- dks"k izokg D;k gS \ ;g D;ksa cuk;k tkrk gS \
(What is fund-flow ? Why it is prepared ?)
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[k.M&v (Group- A)

1- ^LVsV cSad vkWQ bafM;k* fdl o"kZ LFkkfir dh xbZ \
('State Bank of India' was established in the year)

v½ 1944 c½ 1935
l½ 1954 n½ 1947

2- izkjfHkd -------------------- gS (Opening stook is)

v½ dks"k ds L=ksr (Source of fund)

c½ dks"k dk iz;ksx (Application of fund)

l½ dks"k dk izokg ugha (No flow of fund)

n½ buesa ls dksbZ ugha (None of these)
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3- tksf[ke iwath f'kyk/kkj fuEu }kjk LFkkfir fd;k x;kA
(Risk capital foundation was established by - )

v½ vkbZ ,Q lh vkbZ (IFCI) c½ ;w Vh vkbZ (UTI)

l½ vkbZ Mh ch vkbZ (IDBI) n½ vkbZ lh vkbZ lh vkbZ (ICICI)

4- foi.ku O;; Hkkj gS (Marketing expenditure is a burden)

v½ m|ksxksa ij (On industry)

c½ O;olkf;;ksa ij (On businessmen)

l½ miHkksDrkvksa ij (On consumers)

n½ buesa ls lHkh ij (All of these)

5- pkyw vuqikr gksrk gS (Current Ratio is)

v½ vkfFkZd fpV~Bk vuqikr (Balance sheet ratio)

c½ ykHk&gkfu vuqikr (P/L Ratio)

l½ fefJr vuqikr (Composite Ratio)

n½ buesa ls dksbZ ugha (None of these)

6- ykxr rRo gS (The element of cost is) -

v½ lkexzh (Material) c½ fdjk;k (UTI)

l½ Je (Labour) n½ O;; (Expenses)

7- ^izcU/k ,d is'kk gS* ;g dFku gS
("Management is a profession" this statement is of ) -

v½ tkWtZ vkj- VSjh (George R.Terry)

c½ vesfjdu izcU/k ,lksfl,'ku (American Management Association)

l½ gsujh Qs;ksy (Henry Fayol)

n½ buesa ls dksbZ ugha (None of these)

8- miØe dk pquko djrs le; /;ku nsus ;ksX; fcanq gS
(The point which considered while selecting an enterprise is) -

v½ mRikn (Product) c½ foi.ku (Marketing)

l½ iwath dh miyC/krk (Availability of capital)

n½ buesa ls dksbZ ugha (None of these)

[k.M&c (Group- B)

fdUgha N% iz'uksa dk mÙkj nsa% (Answer any six questions)

11- volj ,ao m|eh ds D;k laca/k gS \ (What is the relationship between
opportunity and entrepreneur)

12- LFkk;h iwath D;k gS \ (What is fixed capital ?)

13- ykHk Hkkxk vuqikr D;k gS \ (What is profit volume ratio)

14- m|eh iwath vFkok lkgfld iwath D;k gS \ (What is venture capital ?)

15- m|ferksa ds fy, cktkj ewY;kadu D;ksa vko';d gS \
(What is fixed capital ?)

16- fu;kstu dh dksbZ rhu D;k mís'; gSa \ (Mention any three features of
planning)

17- ifj;kstuk ewY;kadu ds D;k mís'; gS \ (What are the objective of
project appraisal ?)

18- vf/kfod"kZ D;k gS \ (What is overdraft)
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[k.M&l (Group- C)

19- va'k ,ao _.k i= esa vUrj dhft, \
(Distinguish between Share and Debentures)

20- fdlh oLrq ;k lsok dk pquko djrs le; lkglh dks fdu&fdu ckrksa
ij /;ku j[kuk pkfg, \ (What factor should an entrepreneur consider
while selecting a product on service ?)

21- O;olk; esa foKkiu ds egRo dks crk;sA (Discuss the importannce of
advertisement in business)

9- fuEu esa ls dkSu lk ?kVd cktkj ewY;kadu ij izHkko Mkyrk gS \
(Which of the following factors affect market assessment)

v½ lw{e okrkoj.k (Micro environment)

c½ mRikn dh ykxr (Production cost)

l½ mijksDr esa ls u ¼v½ vkSj u ¼c½ (Neither (a) nor (b) of the above)
10- Kku vtZu izfØ;k esa 'kkfey gksrs gSa (Learning process involves :)

v½ lapkyu (Drive) c½ euksHkko (Cue)

l½ vuqfØ;k (Response) n½ ;s lHkh (All of these)


